Z:\Clients\{DP PERMANENT\B - Texas Dept of Ins\DR-1063 - K2A SERIES w STEEL DR\C - Drawings\TX-4935.dwg

21300 W 8 Mile Rd.
Southfield, MI 48075-5638

ZIDP
000

INTERNATIONAL
DOOR PRODUCTS, INC.

ENTRY-FIT™ "K2A-Series"
ADJUSTABLE STEEL DOOR FRAME

Utilizing a Steel Door Panel
"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Steel Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject fo the following
conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. This system has been tested and evaluated as a large missile impact protective
system for installation in areas that require wind borne debris protection. This
product meets missile level "D" as defined in ASTM E 1996.

3. Allowable design pressure requirements must be equal fo or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET# | DESCRIPTION
Typical elevations, design pressures & general notes
Door panel details

Cormner detail

Elevations

Horizontal cross sections

Vertical cross sections

Frame & buck anchoring {7'-0" door

Frame & buck anchoring (8'-0" door

OO N ONAN] B JOOIN

Bill of materials and components

ul
: ah
o < e n
AT 3 3o o
G iF £x & U8
S : oy O y'?) 6"'
ISt SO Lo F N fu
“iut PN c 'dg L
G ; 5 £33 3z
6 Ln, HeX¥: 2 <82 5o
3 'y M s RN ==
Ly, 197 > Jge BE
Qi g>n g
. gop be
s o . [s] % © oh
39.13" MAX. 3 937 u)
FRAME WIDTH £ 3%e 98
(=% =0 [} w
[ 2% %,_
a Mmoo 88
39.13" MAX. 2 3%
FRAME WIDTH £ i
£ wo
= = :
w
2| 35
ol A
7] Qo
ADJUSTABLE STEEL DOOR FRAME i =&
: T g =
K2A-Series 5 T PR
[} - QL,_, 5 a
T I = = ]
LLs (U] = 7
2 : 9 3
i g =l el S0
L ol ol AW
= o S 3 K P B
= X : t X °l o| @ |g o
:2 @ E @ o o o
& & 4z
e
© w
[
(&)
O
O
&
S v
@ |Z
o 3
A Q Q'
o
i
oQ
INSWING OR OUTSWING T
8
N
N
~lo
MAX. OVERALL DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF) Z
DOOR PANEL FRAME INSWING OUTSWING DATE: 5/07/19
DIMENSION POSITIVE | NEGATIVE POSITIVE | NEGATIVE SCAE:  N.T.S.
MASONITE | 39.13"X86.13" | +45.0 | -70.0 | +70.0 | -70.0 oW, B RW
MASONITE | 39.13"'X 98.13" | +65.0 | -70.0 | +65.0 | - 65.0 o o LS
TX—4935

sHeer 1 oF 9

© 2019 R.W. BUILDING CONSULTANTS INC.




CONE BANVYLINSNGOD aNIgTNg "M 6102 [@)]

ZS8LL—3 # NOLVHISIOSN 40 3LVOLLLNID SNOISIATY
SUIIANIONZ IYNOISSIHONd 40 Quvos Svxal SUVI3A TNV 4000 Ad 31v4 [ON| o =ln] @ 9_
rcarela o S47| 30090 2d1/281 8102 01 3ivadn| zz/zi/L] | |T|»w |2 |w
L616'68 : ; ) M
g8GeE “id omtmum ﬁnwouomo cMs.M \Sv@ ‘ATENISSY 0 Lavd W M e - s
"ONI ‘SINVLINSNOOD ONIGING Y . g 1 2_
(S31¥3S-vzy) INvE4 133LS ol |&lgle =
£ZILYOL# "3'd SwXAL dai P W_ ol ¢l|E &
‘I'd IPIUYDS ‘o UopUA] Ay pedndedd sjuawnosoQ 119Na0Nd 218 W 5 w 5
o .
®] =
SL0 | B o0 o
* = .. “ m
)
(7.}
T 3
| NNW S
o 7 -
55 \ / T
L) w >
= oL a =
o o z s mw
: ; : 3
S B S EC
[yl 8 m
ot
i
&
—— SL |
) - SL'6S |
/ w vw b i —v
= <
O - a.
2 &
, T
%5 g
== ~ T o
oo o
5 Z i
»Z 52
o- QB
Z o=
o M -
Joone
[ ¥e]
2
(7]
[ %]
[ 7]
o 2
S S U
m m M 1HOEH TaINVd XYW .ST'G6
— |3 ¥ m
S
[
O WSLLY
x
mu ..@.m '.'A .-
| Fred R
olo = Y
= = =
5z
, T
ed= L= 8 o
H med
= 2 = HE e
% < u x| O N [Ty
o Q8 Y Z
o NiZ N M
h | — o OB
< Q o=
o3
3 3
W o
g
O
IHOREH 1INV ‘XYW .ST'€8 Z0
¥
R

bmp'gEay-XL\sbuimesq - D\MQ T33LS M SAIS V2 - €901 -Ya\sul 40 3daq sexa - E\LNINVINYId dANSIUBIDNZ -



‘ONE SLNVLIINSNGD aNIGTINgE ‘MY 6102 @)

2S8LL—d # NOUVAISIOZN 40 ILVOLILYED SNOISIAFY
SHIINIONI m_,qzo_mwmuomm 40 quvos SwxaL V130 H3NH0D Ag 7 Alvd [ONl o] . N 173 9_
L6L6°6S9°CLE FON ouo S47] 3000 Jdi/08l 8102 0L 3vadn| zz/zi/L| L | |NE|L| ™
cose O L e o \S‘d@. TTTEN3SeY 90 Lavd W 5 =5 2|8
"ONI ‘SINVLINSNOO ONIQTINg < g | 3_
(S3143S—vZ)) INvY4 133LS o] 15]gle X
SZLYOLF "I'd SYXIL dai i M A1 &
“A'd IPIyeg 4 uopukl 1Ag pedodedd sjuswinoog 110Nao0Hd m g W m m W

zwo\w N m«m
¢

g mﬁgf... e
mk .c-.c..: : .L
u
\.

P
[GinH0S 3 NONALE

s

.....
B ]
Py aeane
A

HEADER BASE

TABS
0 < p (
¢L£f / ——BASE JAMB

JAMB CLOSURE TRIM

,, o o s o\ =
A\ N &\ LB
1 oZ
/ 25
RN NN =

. J 23S
X
Ol <<y
\ Cc|s =
we <
\ ZlT &
A mﬁu NW

Qi =
Z O
W
o
w
o Dm
(%0}

et
=
= & %3]
c o 0]
= e P
w
W e 5
s 3] ke
D b4 o>
Q < o
= =
o w O
o o p
]
0 z
0 3
- 2
W
: ;
0 wT
Hmnl uw
w .
oS -
) = SMD
W= o<
22 S5g
= © SEZ
D& DAuPH
o2 ol
o0 I % e e
= nw O
< = L
-3 sy _H77
EE <¥# %

/1
7

CORNER DETAIL
K2A-SERIES FRAME @ SILL

Bmpse6p-X1\sBumelq - D\YQ T33LS M STYIS V2 - €901-YA\su] Jo 3daq sexal - S\LNINVINYId daI\sIualIDNZ



TON SBLNVYLINSNOD aNIging "Mm's 6102 @

268LL—d # NOUVMISIOFN 40 ILVOLJLNID SNOISIATY
SYIINIONI TVNOISSIJ0¥d 40 QHvOd Svxal SNOLYAT T Ad 3ivd [ON| o =|n 9_
cpcn . S41] 3000 2¥I/2dl 8102 0L 3wvadn| zg/zL/L] L |<|» ridl I
LBLE'6G9'CL8 FON euoydg : a4 b
GE5SE "1d ODMIPA OCZ Xog .O.mgg ‘ATINESSY MO 1Mvd /—n/W m ~ . w 5
“ONI ‘SINVLINSNOD ONIGTINg IS 1B 4_
(SA¥3S-YZy) INVYL 133LS ol 15l gle X
CZTIPOL# "3'd SvX3L dal i m s|2iZ m
T IPIWILYOS 4 UOpUAT :Ag pedodeid sjuswnosog 10NA0Yd =18 W m W W
&
<
I
@)
i
o
<
z
]
[+'4
<€
-
L
Ll
mw
7
© A _ V
av v@ ) .
-4
/ <]
0 = w
~
D
mw
mw
3
-~ o
ro]
o 8
e o
G &
= 3
= )
S z 2
2’4 - e
<C
=
2 3
: :
L

2
NG

(2

\b/
o
41
>,

= =

BMP'§E6T-XI\SBUIMBIG - DAYA T33.LS M STIYIS V2 - £901L-yd\sul 0 3daq sexal - G\LNINVINYId daN\sIuaDNZ



ZA\Clients\IDP PERMANENT\B - Texas Dept of Ins\DR-1063 - K2A SERIES w STEEL DR\C - Drawings\TX-4935.dwg

1-1/4" MIN. , °

EMB. (TYP.) o
V\
T e
o
. ,v . m’,
° v
g
¥ o
. P V
) o
. Co
< < P
N v
- .
<
Q“ A
- Al
.v <
S G
'vb' ,,’v, “€1
S v
voe o
G
IR
B AT WL E A
A 2
WA e
. v
B
T, o

/"1 "\ HORIZONTAL CROSS SECTION

2x Buck Construction
Outswing Shown {Inswing Similar)

(4050)

RO 23
22
//
~ o 7
@//

A\

20) (29 18

7“3\ HORIZONTAL CROSS SECTION

5 / 2xStud Construction o
Qutswing Shown (Inswing Similar)

INTERIOR

EXTERIOR

INTERIOR

EXTERIOR

3
(38 >
N ‘
= e
b v v
= e 4
i .
g
J B
. . -
v °

3'0.C.MIN

|

ST

!L““-.r“
@ @ [,*_,__ 1-1/4" MIN.
o EMB. (TYP.)

/"2 "\ HORIZONTAL CROSS SECTION

5/ Steel Stud Construction .
Outswing Shown (inswing Similar)

I/4

] . A 4 l
df v

j -

! ATHA

/4 "\ HORIZONTAL CROSS SECTION

§ /2xStud Construction
Outswing Shown (Inswing Similar)

o "E'\;ﬁ A%a

.
P LA

paramanabysonsh

$EECHMIDT

Ye)

o

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

P.O. Box 230 Vairico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

IDP
STEEL FRAME (K2A—SERIES)

PART OR ASSEMBLY:

PRODUCT:

HORIZONTAL CROSS SECTIONS

LFS
Y

1/12/22 |UPDATE TO 2018 IBC/IRC CODE

NOJ DATE

1

REVISIONS

oate: 5/07/19

SCALE:  N.T.S.

pwe. BY:  RW

CHK. BY: LFS

DRAWING NO.:
TX—4935

SHEET _5 oF 9

© 2019 R.W. BUILDING CONSULTANTS ING.



TOND BLNVLINSNGT 8NIaTng "M'™ 6102 O

ZS8LL—4 # NOLLVMISIONM 40 ILVOLLLNID SNOISIAFY
SYIIANIONZ TYNOISSIHONd 40 QuVO8 SwX3L SNOIO3S SSOHD "IVOLLH3A Ad 31vd [ON| oy 9_
-3 i u
L616'659°CL8 FON SUOU . S41] 3000 2dI/08l 8102 0L 31vadn| zz/zi/L]| | G| 8
S6GES “14 OOWIDA OSZ Xo8 "O'd \N\wg ‘ATENISSY d0 Livd NS L Q|6
"ONI *SINVLIINSNOD ONIGHNE m < 21 6_
(SA1¥IS-VZ)) INVYS T33LS O] [Elgle X
SZLHOL# "3'd SYXIL dai i m TE: g
A'd PIUYog 4 uopukl Ag pedodeld sjuswunosoq 119NAa0Hd M g m M W =
('dAL) 'ewa _ -
NIW .7/ 1-L
F ORI A A A A b x @ T
mm LOMAHOS J NOGNAT m mﬁ @ o D =
Gy Pediubiy i [ T
b, Wl E - N S
O, S R 5
NG V o
wwwmmnm 40 Ww\.nﬂﬂ( [ 2 “
Fa keI > M ”
L 2|
= Vi
X v B L O
) =2~ <5
4 4 M > m (o)}
S J = a m -m =
. v <X w M
x)x 7 >Is
o <
[ O (mi~o
L Z Ll
> Qw
i E =
O

(@00

{dAL) "aw3
"NIW ¥/ 1-1

INTERIOR

o/g__%_ |

>

EXTERIOR

]—-—— 3" 0.C. MIN. ——>l

/ 2\ VERTICAL CROSS SECTION

w inswing Shown

OPTIONAL FOR INSWING SILLS
(SEE DETAIL SHEET 9)

(dA) e ('dAL) w3
dVO XYW ¥/ NIW./1-L

("dAL) "gW3
NIW .#/1-L

(40)50)

EXTERIOR

INTERIOR
(50X40)

7“1\ VERTICAL CROSS SECTION

\6/ Outswing Shown

(SEE DETAIL SHEET 9)

22

OPTIONAL FOR OUTSWING SILLS

BMp'sE6p-X1\sBUIMeIQ - D\YA 133LS M SIS V2 - €901 -da\su] j0 1daq sexsy - E\LNINVINYId dANSIBIONZ -



Z:A\Clients\iDP PERMANENT\B - Texas Dept of Ins\DR-1063 - K2A SERIES w STEEL DR\C - Drawings\TX-4935.dwg

4 -—-—l —— 4'(TYP)
4 P L / }
. Py L __.T
. -
=
|~ i
—— 2X BUCK P
METAL STUD
(2 @ EACH
LOCATION])
HEAD & JAMBS
" (TYP.) =TT
BUCK/STUD / - D A
>
<
=
d 0.
\/\/v\/ Ee

4 a e
MASONRY/ — V

CONCRETE ANCHOR NOTES:

BUCK ANCHORING

7' Door

1. Concrete anchor locations at the comers may be adjusted fo maintain the min.

edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

W . - :
1apcon® | 14 1-1/4 2 4
DeWALT - - -

uLiRACONS| 14 1-1/4 2.1/2° 4

W - - - :
1apcon® | 318 1-1/4 3 1-1/2"

WOOD SCREW INSTALLATION NOITES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

]Oll

g % & 5
v {TYP.) —‘—-1 l<- *
I ——— |
1
16 | B
g
BUCK/STUD o : 2% BUCK T
% I e 2X STUD N
i A : o STEEL STUD
FRAME [ HEAD & JAMBS
] ' (TYP.)
8. |
l |
SESE};%?E | 2X BUCK o —T
> (Y. —r— JI 92X STUD e {0
& ; | STEELSTUD
g_ | (&)
<o @ LOCK JAMB
<=
=§ =
EE] N ‘ |
|
|
HINGE JAMB
FRAME ANCHORING
7' Door

15

18

HINGE DETAIL

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

STRIKE PLATE DETAIL

LSO
SONELT
;.‘:"%‘y..”g 9 E n,‘s“y
.-‘3"_57‘_'_?~ R
o o + H
Pyl xI:
ﬁsff{% 1O
bt s
S R : :
] ;O‘; K P
X 12
"’;33’ <3
222;5\;;:“‘3 E E,,‘
lis: e
Trindee™
in
e
3
o-
<
in
w3
ANl
(‘ﬂ
N
SEE STRIKE PLATE
DETAIL
(TYP)
STRIKE JAMB

BUILDING CONSULTANTS, INC.
P.O. Box 230 Vairico FL. 33595

Documents Prepoarsd By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

IDP
STEEL FRAME (K2A—SERIES)
PART OR ASSEMBLY:

PRODUCT:

FRAME AND BUCK ANCHORING
(7’0" DOOR)

LFS
BY

REVISIONS

1/12/22 UPDATE TO 2018 IBC/IRC CODE

1

NOJ DATE

oatE: 5/07/19

SCALE;  N.T.S.

DWG. BY: RW

cHK. BY: LFS

DRAWING NO.:
TX—4935

SHEET _7 oF _9

© 2019 R.W. BUILDING CONSULTANTS ING.



§ 26 ST
oy S5 ¢ e i 33 2 o
4 < a :" <l - |a— 4" (TYP) o N 5_‘;;3}" 52 _;E:;: '§ gg
R (TYP.) = SIS LE Sy ¢B BT
P 4 * S S — 4 _ _ §u_ 3 "3 Wt ng G
o : l L_ | "" = 50‘.: ‘U..g gg x/_)og! g’ﬁ:
< a R S L gop 88
s 1 oz, iR S BIg gg
| | ls i
) - i I n- 2
e = nT g ¥i5 Zgo so
w = ;: & Mivaady & :; N oa i
. =<3' R Rt v 52 18
- 2X BUCK — © A 2XBUCK : §%g o8
METAL STUD N BUCK/STUD (5) 2xsmp 2 ag i
(2 @EACH J 0 P o2
LOCATION) o STEEL STUD ES & 5 & g;g
HEAD & JAMBS 1 FE S £ 8
- HEADE | ER3 H HEAD & I g
O
= _ — =
= i 0 z
_ ] S m A e
. 2 LUL’)J Q,_\
. 1 / ) < <Z:§
> Ny x
e = [ 0%& |l xeuck(aYy } . } S
BUCK/STUD _ | dg n3E ] § BEN
O S 2X STUD o & R ES
iq : | e
w3 ﬂ 1] Ll &x =
. $ | seeswo (o) ' SEE STRIKE PLATE =N
@ LOCK JAMB [?TE;;\I)L £ g -
N~ ’ 1)
< 1 LL m
] I
a l g
4v ) (o}
P e — FRAME/ ! . o
MASONRY ‘ | L | || g
T \ STRIKE JAMB & B
- _ o N “v < =
. HINGE JAMB SRR 2
~
BUCK ANCHORING FRAME ANCHORING o |
8' Door 8' Door , "
] . =
18 ’\/\/v\/ ' ADA SILLS e
e 2X BUCK @ =] INSWING/OUTSWING N
A SILLS NE
9 - <
e STEEL STUD R | N
: 2XSTUD — , s
< 0 ) 2xsuc1< . \ oAE: 5,07/19
‘|5 [~ AV 3 = OPTIONAL SCALE: N.T.S.
A STEEL STUD e = ~ owe. B:  RW
(20) FE1(VP) —e] ¢ i
2X STUD m cHk. B LFS
OPTIONAL SILL ANCHORING DRAWING NO.:
HINGE DETAIL STRIKE PLATE DETAIL IN LIEU OF FRAME CORNER CONNECTIONS TX—4935
(SEE CORNER DETAIL - SHEET 4) SHEET 8 oF 9

ZA\Clients\IDP PERMANENT\B - Texas Dept of Ins\DR-1063 - K2A SERIES w STEEL DR\C - Drawings\TX-4935.dwg

© 2019 R.W. BUILDING CONSULTANTS [NC.



Z:A\Clients\|DP PERMANENT\B - Texas Dept of Ins\DR-1063 - K2A SERIES w STEEL DR\C - Drawings\TX-4935.dwg

i Y

o

Rt S &Etzz
o Oy et £ te. 3\)} 2‘?
Eari ™ il ad : FE
oy B .
S iTE
ey M;OS«; 1
L!..:‘ St Ewsg
ﬁ»iﬁ'*. 525""‘

L HaR] vy
Ghn, gl &

., B

EGA ‘*u.:«t. : ur® 0"* Pt

2222{1:_,,( ix 7 93:&57
Mpaadea

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

1.88"

22 EXTERIOR FRAME

K2A -SERIES

BILL OF MATERIALS
fTEM # | DESCRIPTION MATERIAL
A | 2XSTUD FRAMING [SG>= 0.42) WOOD
B | 2X BUCK [SG >= 0.42) WOOD
C | METAL STUD (SSMA STUD 5505162-54, Fy = 33 ksi, Fu = 45 ksi) STEEL
D | 1/4"X 2-3/4" DeWALT OR [TW PFH CONCRETE SCREW STEEL
£ | MASONRY - 3,000 PST MIN. CONCRETE CONFORMING TO ACT 30T OR HOLLOW BLOCK CONCRETE
CONFORMING TO ASTM C90 OR ASTM A453 STEEL
F | 3/16"X 1-3/4"HWH ITW CONCRETE SCREW STEEL
G |3/16"X 3-1/4' DeWALT OR ITW PFH CONCRETE SCREW STEEL
H |1/4°X2-1/4" DeWALT OR TW PFH CONCRETE SCREW STEEL
K |1/4"X1-3/4" DeWALT OR ITW PFH CONCRETE SCREW STEEL
4 | #10X 1-1/2"PPH SMS {1-1/4" MIN. EMBEDMENT) STEEL
5 | #10X 2" PPH SMS (1-1/4" MIN. EMBEDMENT) STEEL 3
6 | #10 X 3/4" HWH SELF-DRILLING TEK SCREW (3 THREADS MUST PROTRUDE THRU STEEL) STEEL - 3
7 | WEATHERSTRIP - S —
8 | DOOR SWEEP PVC )
15 | 10-24 X 5/8" PFH MS STEEL 03
16 | #8 X 2-1/2" PFH WOOD SCREW STEEL
17 | #10 X 2-1/2" PFH WOOD SCREW STEEL
18 | 4'X 4" HINGE STEEL
20 11024 X 1/2°PEHMS STEEL INTERIOR FRAME
22 | IDP [K2A-SERIES) EXTERIOR FRAME (18 GA. - A60 GALVANNEALED STEEL) STEEL K2A -SERIES
23 | IDP (K2A-SERIES) INTERIOR FRAME (22 GA. - AG0 GALVANNEALED STEEL) STEEL
28 | LATCH & DEADBOLT REINFORCEMENT STEEL
29 | HINGE REINFORCEMENT STEEL
30 | INSWING THRESHOLD ALUM/COMP
31 | ADA THRESHOLD ALUM
32 | OUTSWING THRESHOLD ALUM/COMP
40 |7 DOOR - SEE DOOR PANEL DETAILS - ‘
50 | 8 DOOR - SEE DOOR PANEL DETAILS -
58 | DEADBOLT STRIKE STEEL
59 | LATCH STRIKE STEEL
THERMAL BREAK

]H

N,

‘ 5.98"

THRESHOLD

39 OUTSWING

AFCO A-111

30 INSWING THRESHOLD

A

PN

| os

31 ADA THRESHOLD

Documents Prepared By
% BUILDING CONSULTANTS, INC.
WP.O. Box 230 Vairico FL. 33595
Phone No.: 813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

IDP
STEEL FRAME (K2A—SERIES)

PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
AND COMPONENTS

LFS
BY

REVISIONS

1/12/22 JUPDATE TO 2018 IBC/IRC CODE

e

NOJ DATE

paTE: 5/07/19

scae:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX—4935

sHeeT 9 oF 9

© 2019 R.W. BUILDING CONSULTANTS INe.



